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Cloze test for RBI Assistant Pre, SBI Clerk Pre, IBPS Clerk Pre and 

LIC Assistant Pre Exams. 
Ex 89 
 

Directions: Study the following information carefully and answer the questions given 
besides. 

  
Since the earliest times, humans have needed to be sensitive to their surroundings to ____ A 
____ , which means that we have an ____ B ____ awareness of our environment and seek out 
environments with certain qualities. 
  
First of all, humans have a strong need for safety and security and look for those attributes in 
their environment. We also look for physical ____ C ____ , such as an environment with the 
right temperature. In addition, we seek an environment that is psychologically comfortable: 
for example, environments that are familiar, but offer the right amount of stimulus. 
  
Retailers and the hospitality industry know this very well and try to provide an atmosphere 
that creates a positive customer ____ D ____ and offers three important attributes: comfort, 
safety, and entertainment. These attributes are ____ E ____ important in healthcare as well. 
 
 
1. A. 

A. flourish  B. living  C. grow  D. survive  E. None of these 
 

2. B. 

A. natural  B. innate  C. unwanted  D. awkward  E. None of these 
 

3. C. 

A. strength  B. prowess  C. relations  D. comfort  E. None of these 
 

4. D. 

A. experience  B. feedback  C. grievance  D. cycle  E. None of these 
 

5.  E. 

A. accordingly  B. competitively C. carefully  D. annually  E. None of these 
 
 



 

 

Correct Answers: 

 

1 2 3 4 5 

D B D A E 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

                         
      Join us                    Join us 

www.smartkeeda.com   | https://testzone.smartkeeda.com/# 

SBI | RBI | IBPS |RRB | SSC | NIACL | EPFO | UGC NET |LIC | Railways | CLAT | RJS 

https://www.instagram.com/smartkeeda_official/
https://web.telegram.org/z/#-1284268835
https://www.instagram.com/smartkeeda_official/
https://web.telegram.org/z/#-1284268835
http://www.smartkeeda.com/
https://testzone.smartkeeda.com/


 

 

Explanations: 
 

1.   If we observe the choices given here closely, we can deduce that both ‘flourish’ and ‘grow’ are 
synonyms and it implies that neither of them could fill in the blank. This eliminates option A and C 
immediately. 
 

Usage of ‘living’ for the blank would be grammatically incorrect. 
 

‘Survive’ which means ‘continue to live or exist, especially in spite of danger or hardship’ seems to fill in 
the blank most appropriately and usage of the verb ‘needed’ in the sentence confirms it in the context 
of the passage. 

 

Option D is hence the correct answer. 
 
 

2. If we observe carefully, we can find that presence of the article ‘an’ right before the blank confirms 
that only a word starting with a vowel sound can fill in the blank. Therefore, option A gets eliminated 
immediately. 
 

Further, neither of the words ‘unwanted’ and ‘awkward’ makes sense if filled in the blank. 
 

The word ‘innate’ which means ‘inborn or natural’ fills in the blank most appropriately. 
 

Option B is hence the correct answer. 
 

 

3. None of the words ‘strength’, ‘prowess’ and ‘relations’ seems to fit in the context of the sentence. 
 

Only the word ‘comfort’ goes well with the context and it is confirmed if we observe the next sentence 
in the same paragraph; 

 

In addition, we seek an environment that is psychologically comfortable: for example, environments 
that are familiar, but offer the right amount of stimulus. 

 

Hence, option D is the correct answer.  
 
 

4.   ‘Feedback’ is something that a customer gives after experiencing a product or service. Usage of it for 
the blank doesn’t make any sense. This makes option B invalid. 

 

‘Grievance’ is a negative work whereas the sentence is written in a positive tone. This is also a weak 
choice for the blank. 

 

‘Cycle’ is absolutely absurd in the context. 
 

‘Experience’ is clearly the best choice here for the blank as it goes well with the context. 
 

Option A is hence the correct answer. 
 



 

 

5. In the given context of the passage, none of the available choices is appropriate for the blank. 
  

Either ‘equally’ or ‘quite’ would have been correct here for the blank. 
  

Evidently, option E is the correct here.  
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